1/2)

| | 5-02-51-001
123 113
R2 R2
HDD
(R6_R9)
3,300 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.300 0 0 0 0
0.2
0 0 0 0
1
R )
a 50 50 50 50 50
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R

80

80

80

80

80

b/a %

0.00

0.00

0.00

0.00

0.00

ol 0 |©o

[eHelHolMHal ol (o}

OO 0|00 |o

o o0 ©o O |o

R2

(53.3%)




1/2)

| | 5-02-51-002
R2 RS

PC PC
(R6_R9)
1,100 1,100 1,100 1,100 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.100 1,100 1,100 1,100 0

0.2
0 0 0 0
1
R )

a 50 50 50 50 50
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )

a 5 5 5 5 5
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
1,100 1,100 1,100 1,100 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

1,100 1,100 1,100 1,100 0

R2

(53.3%)




1/2)

| | 5-02-51-003
ICT
R5 R5
(R6__R9)
0 0 0 1,700 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 1,700 0
0 0 0 0
1
R )
a 5 5 5 5 5
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 3 3 3 3 3
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
80
ICT

0 0 0 1,700 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 1,700 0

R2

(33.3%)




1/2)

| | 5-02-52-002
R2 RS
(R6_R9)
2,500 1,000 1,000 1,000 9,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 1,000 1,000 1,000 9,000
0 0 0 0
1
R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
2,500 1,000 1,000 1,000 9,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 1,000 1,000 1,000 9.000
R2 55 75

(73.3%)




1/2)

| | 5-02-52-001
R2 RS
(R6 _R9)
38,400 43,300 52,400 65,000 64,900
0 0 0 0 0
0 0 0 0 0
37,300 34,600 51,400 64,000 0
0 7,700 0 0 60,900
1.100 1,000 1,000 1,000 4,000
0 0 0 0
1
(R )
a 1 2 2 1 1
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
38,400 43,300 52,400 65,000 64,900
0 0 0 0 0
0 0 0 0 0
37,300 34,600 51,400 64,000 0
0 7,700 0 0 60,900
1,100 1,000 1,000 1,000 4.000
R2 65 75

(86.7%)




1/2)

| | 5-02-52-003
R2 RS
(R6_R9)
3,100 46,300 8,000 6,000 16,000
0 0 0 0 0
0 0 0 0 0
0 40,300 0 0 0
0 0 0 0 0
3.100 6,000 8,000 6,000 16,000
0 0 0 0
1
R )
a 29 29 29 29 29
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
3,100 46,300 8,000 6,000 16,000
0 0 0 0 0
0 0 0 0 0
0 40,300 0 0 0
0 0 0 0 0
3,100 6,000 8,000 6,000 16.000
R2 50 75

(66.7%)




1/2)

| | 5-02-52-004
R2 RS
(R6_R9)
2,500 2,500 2,500 2,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 0
0 0 0 0
1
R )
a 99 99 99 99 99
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,500 2,500 2,500 2,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 0

R2

(66.7%)




1/2)

| | 5-02-52-005
R2 RS
(R6_R9)
1,000 1,000 1,000 4,600 53,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.000 1,000 1,000 4,600 53,000
0 0 0 0
1
R )
a 1 1 2 8
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
1,000 1,000 1,000 4,600 53,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 1,000 1,000 4,600 53.000
R2 50 75

(66.7%)




1/2)

| | 5-02-52-006
R2 RS
(R6_R9)
1,000 8,200 1,000 1,000 17,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.000 8,200 1,000 1,000 17,000
0 0 0 0
1
R )
a 2 1 1 1
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
1,000 8,200 1,000 1,000 17,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 8,200 1,000 1,000 17.000
R2 50 75

(66.7%)




1/2)

| | 5-02-53-003
R2 R2

(R6_R9)

3,600 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

300 0 0 0 0

3.300 0 0 0 0

0 0 0 0

1
R

a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

3,600

300

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

3,300

OO 0|00 |o

R2

(80.0%)




1/2)

| | 5-02-53-017
R2 RS
1,000
(R6_R9)
1,000 1,000 1,000 1,000 1,000
0 0 0 0 0
700 700 700 700 700
0 0 0 0 0
0 0 0 0 0
300 300 300 300 300
172 41
0 0 0 0
1
R
a 1 1 1 1
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1,000 1,000 1,000 1,000 1,000
0 0 0 0] Q
700 700 700 700 700
0 0 0 0 0
0 0 0 0 0
300 300 300 300 300
R2 55 75

(73.3%)




1/2)

| | 5-02-53-001
R2 RS
300
(R6 _R9)
27,000 27,000 27,000 27,000 108,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
27.000 27,000 27,000 27,000 108,000
0 0 0 0
1
(R )
a 6 6 6 6
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

27,000 27,000 27,000 27,000 108,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
27,000 27,000 27,000 27,000 108.000

_______________________________________________________________ (86.7%)




1/2)

| | 5-02-53-002
R2 RS
(R6 _R9)
13,900 7,500 7,500 7,500 30,000
0 0 0 0 0
0 0 0 0 0
13,900 7,000 7,000 7,000 28,000
0 500 500 500 2,000
0 0 0 0 0
0 0 0 0
1
(R )
a 10 9 9 9 9
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
13,900 7,500 7,500 7,500 30,000
0 0 0 0 0
0 0 0 0 0
13,900 7,000 7,000 7,000 28.000
0 500 500 500 2,000
0 0 0 0 0

R2

(93.3%)




1/2)

| | 5-02-53-007
R2 RS
(R6_R9)
2,500 1,000 1,000 1,000 4,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 1,000 1,000 1,000 4,000
0 0 0 0
1
R )
a 2 2 1 1 1
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
2,500 1,000 1,000 1,000 4,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,500 1,000 1,000 1,000 4.000
R2 65 75

(86.7%)




1/2)

| | 5-02-53-008
R2 RS
(R6 _R9)
4,800 4,800 4,800 4,800 19,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,800 4,800 4,800 4,800 19,200
0 0 0 0 0
0 0 0 0
1
(R )
a 3 3 3 3 3
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
4,800 4,800 4,800 4,800 19,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,800 4,800 4,800 4,800 19,200
0 0 0 0 0

R2

(86.7%)




1/2)

| | 5-02-53-009
R2 RS
1,600 2,000 450
600
400 418 300
600
(R6_R9)
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0
1
R )
a 104 104 104 104 104
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
R2 70 75

(93.3%)




1/2)

| | 5-02-53-010
R2 RS
(R6_R9)
5,100 5,100 5,100 5,100 20,400
0 0 0 0 0
0 0 0 0 0
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
100 100 100 100 400
0 0 0 0
1
R )
a 12 12 12 12 12
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
5,100 5,100 5,100 5,100 20,400
0 0 0 0 0
0 0 0 0 0
5,000 5,000 5,000 5,000 20000,
0 0 0 0 0
100 100 100 100 400
R2 70 75

(93.3%)




1/2)

| | 5-02-53-011
R2 R2
(R6__R9)
8,500 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
8,500 0 0 0 0
0 0 0 0
1
R )
a 4 4 12
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(86.7%)




1/2)

| | 5-02-53-012
RA RA
(R6_R9)
0 0 3,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,000 0 0
0 0 0 0 0
0 0 0 0
1
R
- 3
- 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 3,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,000 0 0
0 0 0 0 0

R2

(66.7%)




1/2)

| | 5-02-53-013
R3 R3
26,000 220 110
25
(R6__R9)
0 23,300 0 0 0
0 0 0 0 0
0 0 0 0 0
0 23,300 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
(R
a 1
b 0
b/a % 0.00




©/2)

(R )
a
b
b/a %

0 23,300 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 23,300 0 0 0
0 0 0 0 0
0 0 0 0 0

R2

(86.7%)




1/2)

| | 5-02-53-014
R2 RS
(R6_R9)
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 3 3 3 3 3
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12.000
0 0 0 0 0
0 0 0 0 0
R2 65 75

(86.7%)




1/2)

| | 5-02-53-015
R2 RS
(R6_R9)
7,000 14,000 110,000 60,000 78,000
0 0 19,000 0 0
0 0 0 0 0
0 14,000 90,000 58,000 75,000
0 0 0 0 0
7.000 0 1,000 2,000 3,000
0 0 0 0
1
R )
a 1 1 2 1 2
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
7,000 14,000 110,000 60,000 78,000
0 0 19,000 0 0
0 0 0 0 0
0 14,000 90,000 58,000 75.000
0 0 0 0 0
7,000 0 1,000 2,000 3.000
R2 65 75

(86.7%)




1/2)

| | 5-02-53-016
R2 RS
10 x50 500 5 x 200 1,000
2 x 500 1,000 2 x 300 600
2 x 200 400
(R6_R9)
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 17 17 17 17 17
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
R2 65 75

(86.7%)




1/2)

| | 5-02-53-018
R2 R2

(R6_R9)

3,600 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

3.600 0 0 0 0

0 0 0 0

1
R

a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

3,000

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(60.0%)




1/2)

| | 5-02-56-001
RS RS
(R6_R9)
0 0 0 2,700 0
0 0 0 0 0
0 0 0 1,300 0
0 0 0 0 0
0 0 0 0 0
0 0 0 1,400 0
0 0 0 0
1
R )
a 1.80 1.80 1.80 1.80 2.00
b 0.00 0.00 0.00 0.00 0.00
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 0 0 2,700 0
0 0 0 0] Q
0 0 0 1,300 0
0 0 0 0 0
0 0 0 0 0
0 0 0 1,400 0

R2

(53.3%)




1/2)

| | 5-02-56-002
R2 RS
(R6_R9)
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.000 2,000 2,000 2,000 8,000
0 0 0 0
1
R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,000 2,000 2,000 2,000 8,000
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 2,000 2,000 2,000 8.000
R2 45 75

(60.0%)




1/2)

| | 5-02-56-012
R2 R2
(R6 R
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 877 900 900 900 900
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(46.7%)




1/2)

| | 5-02-56-004
)
R2 RS
3 8 3 6974
(R6_R9)
15,000 15,000 15,000 13,000 0
0 0 0 0 0
0 0 0 0 0
15,000 15,000 15,000 13,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1 1 2 1
8
15,000 15,000 15,000 13,000 0
0 0 0 0 0
0 0 0 0 0
15,000 15,000 15,000 13,000 0
0 0 0 0 0
0 0 0 0 0

R2

(80.0%)




1/2)

| | 5-02-56-006
R2 R5
(R6__R9)
18,300 15,900 14,300 10,000 40,000
0 0 0 0 0
6,800 10,500 9,400 6,600 26,400
7,400 5,400 4,900 3,400 13,600
0 0 0 0 0
4,100 0 0 0 0
0 0 0 0
1 ha
R )
a 20 20 20 20 20
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
18,300 15,900 14,300 10,000 40,000
0 0 0 0 0
6,800 10,500 9,400 6,600 26.400
7,400 5,400 4,900 3,400 13,600
0 0 0 0 0
4,100 0 0 0 0

_______________________________________________________________ (53.3%)




1/2)

| | 5-02-56-007
R3 RS
(R6_R9)
0 20,500 20,500 20,500 0
0 0 0 0 0
0 17,500 17,500 17,500 0
0 0 0 0 0
0 0 0 0 0
0 3,000 3,000 3,000 0
25,000
0 0 0 0
1
R )
a 1 1 1 1
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
700 700 700

0 20,500 20,500 20,500 0
0 0 0 0 0
0 17,500 17,500 17,500 0
0 0 0 0 0
0 0 0 0 0
0 3,000 3,000 3,000 0

R2

(60.0%)




1/2)

| | 5-02-56-008
R2 R3
(R6_R9)
5,000 4,000 0 0 0
Q 0 0 0 0
2,500 2,000 0 0 0
2,400 2,000 0 0 0
0 0 0 0 0
100 0 0 0 0
0 0 0 0
1
R
a 2 2 1
b 0 0 0
b/a_t 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

5,000 4,000 0 0 0
0 0 0 Q Q
2,500 2,000 0 0 0
2,400 2,000 0 0 0
0 0 0 0 0
100 0 0 0 0

R2

(46.7%)




1/2)

| | 5-02-56-013
R3 R3
(R6_R9)
0 25,000 0 0 0
0 10,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 15,000 0 0 0
14,580 3,500 8,143
1,000 1,000 1,000 1,000
1
R )

a 60 60 80 100 100
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 3 3 4 4 5
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
0 25,000 0 0 0
0 10,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 15,000 0 0 0

R2

(66.7%)




1/2)

| | 5-02-56-010
R4 R4
60 20
(R6__R9)
0 0 13,000 0 0
0 0 0 0 0
0 0 6,500 0 0
0 0 6,500 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 1
b 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 13,000 0 0
0 0 0 0 0
0 0 6,500 0 0
0 0 6,500 0 0
0 0 0 0 0
0 0 0 0 0

R2

(80.0%)




1/2)

| | 5-02-57-001
R2 R4
10 12 50 25 25
(R6_R9)
2,500 2,500 2,500 0 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )

a 50 50 50 50

b 0 0 0 0

b/a_% 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
50 50 50
2,500 2,500 2,500 0 0
0 0 0 0] Q
0 0 0 0 0
2,500 2,500 2,500 0 0
0 0 0 0 0
0 0 0 0 0

R2

(86.7%)




1/2)

| | 5-02-57-002
R2 R4
5
10 500 200 300
(R6_R9)
3,000 3,000 3,000 0 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 40,000 40,000 40,000 40,000
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a 20,000,000 2,000,000 2,000,000 2,000,000
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00
3,000 3,000 3,000 0 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 0 0
0 0 0 0 0
0 0 0 0 0

R2

(86.7%)




1/2)

| | 5-02-57-003
R2 RS

7 14
(R6 _R9)
71,400 71,400 71,400 71,400 285,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
70,000 70,000 70,000 70,000 280,000
1.400 1,400 1,400 1,400 5,600
0 0 0 0

1
(R )

a 6 6 6 6 6
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
71,400 71,400 71,400 71,400 285,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
70,000 70,000 70,000 70,000 280,000
1,400 1,400 1,400 1,400 5 600
R2 60 75

(80.0%)




1/2)

| | 5-02-57-004
R2 RS
(R6_R9)
21,700 35,000 35,000 35,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,400 5,000 10,000 15,000 0
19,300 30,000 25,000 20,000 0
0 0 0 0
1
R )
a 1,000 5,000 10,000 15,000
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )

4 4 7 7 7

0 0 0 0 0

0.00 0.00 0.00 0.00 0.00
21,700 35,000 35,000 35,000 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

2,400 5,000 10,000 15,000 0
19,300 30,000 25,000 20,000 0

R2

(86.7%)




1/2)

| | 5-02-57-005
R2 R3
-3.0m -4.5m
(R6_R9)
18,500 30,000 0 0 0
0 0 0 0 0
0 0 0 0 0
18,400 30,000 0 0 0
0 0 0 0 0
100 0 0 0 0
0 0 0 0
1
2 1
(R )

a 1 1 1

b 0 0 0

b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
-3.0m -3.0m
-4.5m -4.5m
18,500 30,000 0 0 0
0 0 0 0 0
0 0 0 0 0
18,400 30,000 0 0 0
0 0 0 0 0
100 0 0 0 0

(93.3%)




1/2)

| | 5-02-57-006
R2 R3
R2
R3
(R6_R9)
9,000 9,000 0 0 0
0 0 0 0 0
0 0 0 0 0
9,000 9,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
(R )
a 4 4
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %
4 4
9,000 9,000 0 0 0
0 0 0 0] Q
0 0 0 0 0
9,000 9,000 0 0 0
0 0 0 0 0
0 0 0 0 0

R2

(93.3%)




1/2)

| | 5-02-57-007
R2 RS
R2
R3 R4
(R6_R9)
3,500 25,000 500,000 0 0
0 12,500 250,000 0 0
0 0 0 0 0
0 12,500 250,000 0 0
0 0 0 0 0
3.500 0 0 0 0
0 0 0 0
1

R )
a 3 3 3 1 1
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,500 25,000 500,000 0 0
0 12,500 250,000 0 0
0 0 0 0 0
0 12,500 250,000 0 0
0 0 0 0 0
3,500 0 0 0 0

R2

(86.7%)




1/2)

| | 5-02-57-008
R3 R3
(R6_R9)
0 4,400 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,400 0 0 0
0 0 0 0
1
(R )
a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %

0 4,400 0 0 0
0 0 0 0] 0]
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,400 0 0 0

R2

(53.3%)




1/2)

| | 5-02-57-009
Ra R4
(R6_R9)
0 0 6,300 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 6,300 0 0
0 0 0 0
1
(R )
a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %

0 0 6,300 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 6,300 0 0

R2

(46.7%)




1/2)

| | 5-02-57-010
53
28
R4 RS
R4
RS
(R6_R9)
0 0 2,500 45,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 2,500 45,000 0
0 0 0 0
1
R )
a 1 1 1
b 0 0 0
b/a_% 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 0 2,500 45,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 2,500 45,000 0

R2

(80.0%)




1/2)

| | 5-02-57-011
R5 R5
RO5
(R6__R9)
0 0 0 3,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 3,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )

a 55
b 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 0 3,000 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 3,000 0
0 0 0 0 0
0 0 0 0 0

R2

(73.3%)




1/2)

| | 5-02-58-001
R2 RS
(R6_R9)
12,000 10,000 10,000 10,000 40,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
12,000 10,000 10,000 10,000 40,000
10,000 10,000 10,000 10,000
1
R )
a 69.10 70.00 70.00 70.00 70.00
b 0.00 0.00 0.00 0.00 0.00
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
12,000 40,000
0 0
0 0
0 0
0 0
12,000 40,000
R2 R

(53.3%)




1/2)

| | 5-02-58-002
R2 RS
(R6_R9)
9,000 9,000 9,000 9,000 36,000
0 0 0 0 0
0 0 0 0 0
9,000 9,000 9,000 9,000 36,000
0 0 0 0 0
0 0 0 0 0
9,000 9,000 9,000 9,000
1
R )

a 3,000 3,000 3,000 3,000 3,000
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
9,000 9,000 9,000 9,000 36,000
0 0 0 0 0
0 0 0 0 0
9,000 9,000 9,000 9,000 36.000,
0 0 0 0 0
0 0 0 0 0
R2 35 75

(46.7%)




1/2)

| | 5-02-58-012
PR
PR
PR
R2 R4
PR
(R6 _R9)
2,000 2,000 2,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 1,000 1,000 0 0
1.000 1,000 1,000 0 0
0 0 0 0
1 PR
PR
PR
(R )

a 3 3 3

b 0 0 0

b/a % 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
PR
PR PR PR
2,000 2,000 2,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 1,000 1,000 0 0
1,000 1,000 1,000 0 0

R2

(73.3%)




1/2)

| | 5-02-58-013
R2 R2

(R6_R9)

1,800 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

1.800 0 0 0 0

0 0 0 0

1
R

a 10
b 0
b/a % 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(66.7%)




1/2)

| | 5-02-58-003
R2 RS
(R6_R9)
2,700 2,700 2,700 2,700 10,800
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.700 2,700 2,700 2,700 10,800
2,700 2,700 2,700 2,700
1
R )

a 170 200 200 200 200
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,700 2,700 2,700 2,700 10,800
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,700 2,700 2,700 2,700 10.800
R2 40 75

(53.3%)




1/2)

| | 5-02-58-004
R2 RS
(R6_R9)
3,400 3,400 3,400 3,400 13,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.400 3,400 3,400 3,400 13,600
3,400 3,400 3,400 3,400
1
R )

a 9,000 9,000 9,000 9,000 9,000
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,400 3,400 3,400 3,400 13,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,400 3,400 3,400 3,400 13,600
R2 45 75

(60.0%)




1/2)

| | 5-02-58-006
R2 R3
(R6__R9)
1,500 1,400 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.500 1,400 0 0 0
0 0 0 0
1
R
a 2 2
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %
1,500 1,400 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,500 1,400 0 0 0

R2

(46.7%)




1/2)

| | 5-02-58-007
R2 R5
(R6 R
10,400 6,000 6,000 6,000 0
5,100 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,300 0 0 0 0
3.000 6,000 6,000 6,000 0
0 0 0 0
1
R )
a 75,446 80,000 85,000 90,000 95,000
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
10,400 6,000 6,000 6,000 0
5.100 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,300 0 0 0 0
3,000 6,000 6,000 6,000 0

R2

(73.3%)




1/2)

| | 5-02-58-008
R2 R2

(R6_R9)

1,600 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

1,600 0 0 0 0

0 0 0 0 0

0 0 0 0

1
(R )

a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(46.7%)




1/2)

| | 5-02-58-009
R3 R3
(R6_R9)
0 6,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 6,000 0 0 0
0 0 0 0
1
R
a 1
. 0
b/a % 0.00




©/2)

(R )
a
b
b/a %

0 6,000 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 6,000 0 0 0

R2

(73.3%)




1/2)

| | 5-02-58-010
30
R3 RS
(R6_R9)
0 3,000 0 3,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 3,000 0 3,000 0
0 0 0 0
1
R
a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %

0 3,000 0 3,000 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 3,000 0 3,000 0

R2

(80.0%)




1/2)

| | 5-02-58-011
R2 R3
(R6_R9)
2,900 2,900 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
600 600 0 0 0
2.300 2,300 0 0 0
0 0 0 0
1
R
a 3 3
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %

2,900 2,900 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
600 600 0 0 0
2,300 2,300 0 0 0

R2

(73.3%)




1/2)

| | 5-02-59-001
R2 RS

X
(R6_R9)
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 10,000
0 0 0 0 0
2.500 2,500 2,500 2,500 10,000
0 0 0 0

1
R )

a 485 460 460 460 460
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 10.000
0 0 0 0 0
2,500 2,500 2,500 2,500 10.000
R2 55 75

(73.3%)




1/2)

| | 5-02-59-002
R2 RS
X
(R6_R9)
1,000 1,000 1,000 1,000 4,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.000 1,000 1,000 1,000 4,000
0 0 0 0
1
R )
a 50 50 50 50 50
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1,000 1,000 1,000 1,000 4,000
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,000 1,000 1,000 1,000 4.000
R2 40 75

(53.3%)




1/2)

| | 5-02-59-004
R2 RS
(R6_R9)
2,600 5,600 4,300 4,300 3,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,600 5,600 4,300 4,300 3,400
0 0 0 0 0
0 0 0 0
1
R )
a 100 100 100 100 100
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,600 5,600 4,300 4,300 3,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,600 5,600 4,300 4,300 3,400
0 0 0 0 0
R2 40 75

(53.3%)




1/2)

| | 5-02-59-005
25 2
R2 RS
(R6_R9)
4,500 4,500 4,500 100 18,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,500 4,500 4,500 100 18,000
0 0 0 0
1
R )
a 1 1 1 1 1
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
4,500 4,500 4,500 100 18,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,500 4,500 4,500 100 18.000
R2 50 75

(66.7%)




1/2)

| | 5-02-60-001
R2 RS
2,300
(R6_R9)
1,800 1,800 1,800 1,800 7,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.800 1,800 1,800 1,800 7,200
0 0 0 0
1
R )
a 2,300 2,300 2,300 2,300 2,300
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,300 2,300 2,300 2,300 2,300
1,800 1,800 1,800 1,800 7,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,800 1,800 1,800 1,800 7.200
R2 s 75

(46.7%)




1/2)

| | 5-02-60-002
40 40 30
30 30
50
R2 RS
(R6_R9)
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5.000 5,000 5,000 5,000 20,000
0 0 0 0
1
R )
a 385 385 385 385 385
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 440 440 440 440 440
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,000 5,000 5,000 5,000 20.000
R2 50 75

(66.7%)




1/2)

5-02-60-003
20
R2 R5

(R6 R

6,000 6,800 0 15,000

0 0 0 0

0 0 0 0

0 0 0 0

0 0 0 0

6.000 6,800 0 15,000

0 0 0

1
R )

a 65,000 65,000 65,000 65,000
b 0 0 0 0
b/a 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
6,000 3,500 6,800 0 15,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,000 3,500 6,800 0 15,000
R2 50 75

(66.7%)




1/2)

| | 5-02-60-005
9
1
R2 RS
12 12 3
(R6_R9)
3,600 3,600 3,600 3,600 14,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.600 3,600 3,600 3,600 14,400
0 0 0 0
1
R )

a 12 12 12 12 12
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
12 12 12 12 12
3,600 3,600 3,600 3,600 14,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,600 3,600 3,600 3,600 14400
R2 50 75|

(66.7%)




1/2)

| | 5-02-60-012
30
R2 R2
(R6_R9)
2,500 0 0 0 0
0 0 0 0 0
1,200 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.300 0 0 0 0
0 0 0 0
1
R )
a 120 120 120 120 120
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

b/a %

2,500

1,200

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

1,300

OO 0|00 |o

R2

(73.3%)




1/2)

| | 5-02-60-006
70
4 70
70
R2 R5
(R6 R
5,100 5,100 5,100 5,100 20,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5.100 5,100 5,100 5,100 20,400
5,100 5,100 5,100 5,100
1
70
(R )

a 1,100 1,100 1,100 1,100 1,100
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 800 800 800 800 800
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
5,100 5,100 5,100 5,100 20,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,100 5,100 5,100 5,100 20.400
R2 65 75

(86.7%)




1/2)

| | 5-02-60-007
60
60
10
R4 RS
R4 2 RS
(R6_R9)
0 0 3,000 31,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 31,500 0
0 0 3,000 0 0
0 0 0 0
1
R )
a 20 20 20 20 20
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2

0 0 3,000 31,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 31,500 0
0 0 3,000 0 0

R2

(66.7%)




1/2)

| | 5-02-60-008
40
28
R3 R3
(R6_R9)
0 201,200 0 0 0
0 0 0 0 0
0 0 0 0 0
0 201,000 0 0 0
0 0 0 0 0
0 200 0 0 0
0 0 0 0
1
R )
a 50 50 50 50 50
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %

0 201,200 0 0 0
0 0 0 0 0
0 0 0 0 0
0 201,000 0 0 0
0 0 0 0 0
0 200 0 0 0

R2

(80.0%)




1/2)

| | 5-02-60-010
12
R2 R2
(R6_R9)
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 8 8 8 8 8
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(80.0%)




1/2)

| | 5-02-60-011
40
(
R4 R4
(R6_R9)
0 0 42,200 0 0
0 0 0 0 0
0 0 0 0 0
0 0 42,000 0 0
0 0 0 0 0
0 0 200 0 0
0 0 0 0
1
R )
a 50 50 50 50 50
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 0 42,200 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 42,000 0 0
0 0 0 0 0
0 0 200 0 0

R2

(80.0%)




1/2)

| | 5-02-60-009
24 18
18 31
R2 RS
2
(R6 _R9)
10,500 10,500 10,500 10,500 42,000
0 0 0 0 0
1,100 1,100 1,100 1,100 4,400
4,000 4,000 4,000 4,000 16,000
0 0 0 0 0
5.400 5,400 5,400 5,400 21,600
0 0 0 0
1
(R )

a 350 350 350 350 350
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
350 350 350 350 350
10,500 10,500 10,500 10,500 42,000
0 0 0 0 0
1,100 1,100 1,100 1,100 4400
4,000 4,000 4,000 4,000 16.000
0 0 0 0 0
5,400 5,400 5,400 5,400 21.600
R2 65 75|

(86.7%)




1/2)

| | 5-02-61-016
2
R2 R2
(R6_R9)
2,200 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.200 0 0 0 0
0 0 0 0
1
(R )
a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(73.3%)




1/2)

| | 5-02-61-019
LED
R2 R3
(R6__R9)
1,500 32,500 0 0 0
0 0 0 0 0
0 0 0 0 0
0 32,500 0 0 0
0 0 0 0 0
1.500 0 0 0 0
0 0 0 0
1
R
a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %
1,500 32,500 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 32,500 0 0 0
0 0 0 0 0
1,500 0 0 0 0

R2

(60.0%)




1/2)

| | 5-02-61-009
R2 R5
1 1 6
6
6
(R6__R9)
44,000 38,100 69,300 80,800 0
0 0 0 0 0
0 0 0 0 0
43,900 38,100 69,300 80,800 0
0 0 0 0 0
100 0 0 0 0
0 0 0 0
1
R )
a 2 2 3 4
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2 2 3 4
217 290 577 620
1
44,000 38,100 69,300 80,800 0
0 0 0 0 0
0 0 0 0 0
43,900 38,100 69,300 80,800 0
0 0 0 0 0
100 0 0 0 0

R2

(73.3%)




1/2)

| | 5-02-61-010
R2 R3
(R6_R9)
3,600 30,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3.600 30,000 0 0 0
0 0 0 0
1
R
a 1 1 3
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,600 30,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,600 30,000 0 0 0

(73.3%)




1/2)

| | 5-02-61-011
R2 RS

1 1
(R6_R9)
6,000 5,100 6,000 6,100 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6.000 5,100 6,000 6,100 0
0 0 0 0

1
R

a 1 2 1 1
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1 5 1
220 3 540 390
388
6,000 5,100 6,000 6,100 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,000 5,100 6,000 6,100 0

R2

(73.3%)




1/2)

| | 5-02-61-012
R3 R5
2
(R6__R9)
0 31,300 16,200 15,200 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 31,300 16,200 15,200 0
0 0 0 0
1
R )
a 2 1 1
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2
5
1
0 31,300 16,200 15,200 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 31,300 16,200 15,200 0

R2

(80.0%)




1/2)

| | 5-02-61-013
R2 RS
1 1
2
(R6_R9)
2,000 1,900 1,600 2,200 2,300
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.000 1,900 1,600 2,200 2,300
0 0 0 0
1
R
a 2 2 4 5
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
2 4 5 2
2,000 1,900 1,600 2,200 2,300
0 0 0 0 0]
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 1,900 1,600 2,200 2300
R2 s s

(60.0%)




1/2)

| | 5-02-61-014
40
R2 RS
2 2
2
(R6 _R9)
28,000 28,100 28,100 33,500 133,800
8,900 8,900 8,900 10,600 42,600
0 0 0 0 0
19,100 19,200 19,200 22,900 91,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
(R )

a 1 1 1 1 1
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
4
2 2 2
28,000 28,100 28,100 33,500 133,800
8.900 8,900 8.900 10.600 42,600,
0 0 0 0 0
19,100 19,200 19,200 22,900 91.200
0 0 0 0 0
0 0 0 0 0
R2 es 75|

(86.7%)




1/2)

| | 5-02-61-015
R3 R4
44 10 54
(R6__R9)
0 15,200 16,200 0 31,400
0 4,800 5,100 0 9,900
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 10,400 11,100 0 21,500
0 0 0 0
1
R )
a 44 10
b 0 0
b/a % 0.00 0.00




©/2)

R )
a
b
b/a %
44 10 54
54 54
0 15,200 16,200 0 31,400
0 4,800 5.100 0 9.900
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 10,400 11,100 0 21.500
R2 60 75

(80.0%)




1/2)

| | 5-02-61-001
14 50
R2 R2
4
45
(R6_R9)
135,000 0 0 0 0
38.300 0 0 0 9
0 0 0 0 0
95,800 0 0 0 0
0 0 0 0 0
900 0 0 0 0
0 0 0 0
1
(R )
a 19.35 2424
b 0.00 0.00
b/a % 0.00 0.00




©/2)

R )

b/a %

135,000

38.300

0

95,800

0

ol 0 |©o

[eHelHolMHal ol (o}

900

OO 0|00 |o

o o0 ©o O |o

R2

(80.0%)




1/2)

| | 5-02-61-002
20
390
R3 R3
(R6_R9)
0 6,500 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 6,500 0 0 0
0 0 0 0
1
R

a 2

. 0

b/a % 0.00




©/2)

(R )
a
b
b/a %
2 24

0 6,500 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 6,500 0 0 0

R2

(80.0%)




1/2)

| | 5-02-61-003
R2 RS
2 5
10
(R6 _R9)
10,000 10,000 10,000 10,000 24,000
0 0 0 0 0
0 0 0 0 0
6,000 6,000 6,000 6,000 24,000
4,000 4,000 4,000 4,000 0
0 0 0 0 0
0 0 0 0
1

(R )
a 10 10 10 10 10
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

10 10 10 10
10,000 10,000 10,000 10,000 24,000
0 0 0 0 0
0 0 0 0 0
6,000 6,000 6,000 6,000 24.000
4,000 4,000 4,000 4,000 0
0 0 0 0 0

R2 00 75

(93.3%)




1/2)

| | 5-02-61-004
13- 2 20 20
13- 13-
Ra RS
13- 12 5 13- 18
(R6_R9)
0 0 10,100 7,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 10,100 7.800 0
0 0 0 0
1
R
a 12 8
b 0 0
0.00 0.00

b/a

%




©/2)

(R )
a
b
b/a %
13- 13-
1 12 1 8

0 0 10,100 7,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 10,100 7,800 0

R2

(60.0%)




1/2)

| | 5-02-61-005
1 8 25
8 8 84
R3 R5
3 1 12 4 1 12 5 1 12
5 48
(R6__R9)
0 4,400 4,400 4,400 17,500
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,400 4,400 4,400 17,500
0 0 0 0
1
R )
a 1 1 1
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1 2 3
1 12 1 12 1 12 4 8
5 48
0 4,400 4,400 4,400 17,500
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,400 4,400 4,400 17.500
R2 40 75

(53.3%)




5-02-61-006

1/2)

8 84
4 32
5 32
R2 R5
1 24 8
1 32 1 13- 5 32
(R6__R9)
3,300 9,300 5,000 2,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,300 0 0 0 0
0 9,300 5,000 2,800 0
0 0 0 0
1
R )
a 2 6 4 5
b 0 0 0 0
b/a 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2 24 6 60 4 32 5 32
3,300 9,300 5,000 2,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
3,300 0 0 0 0
0 9,300 5,000 2,800 0

R2

(53.3%)




1/2)

| | 5-02-61-007
8 84
5 32
58 60
R2 R3
8 84

5 32 58 60 7 20
(R6__R9)
1,700 1,100 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.700 1,100 0 0 0
0 0 0 0

1
(R

a 84 52 5
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1 8
1,700 1,100 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,700 1,100 0 0 0

R2

(53.3%)




1/2)

| | 5-02-61-008
R2 RS
3 16 4 4 14 4
2 6
(R6 _R9)
6,500 36,200 173,400 165,400 206,400
0 16,100 9,800 5,800 9,800
0 0 0 0 0
0 4,000 153,000 153,000 151,000
0 0 0 0 0
6.500 16,100 10,600 6,600 45,600
0 0 0 0
1
R
a 50 34 20 14
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
4 16 4 14 2 6 3 10
2 4
2 4 2 4
6,500 36,200 173,400 165,400 206,400
0 16,100 9.800 5.800 9.800
0 0 0 0 0
0 4,000 153,000 153,000 151.000
0 0 0 0 0
6,500 16,100 10,600 6,600 45600
R2 55 75

(73.3%)




1/2)

| | 5-02-61-017
R2 RS
(R6_R9)
2,000 2,000 1,900 7,900 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.000 2,000 1,900 7,900 0
0 0 0 0
1
R
a 1 2 2 2
b 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,000 2,000 1,900 7,900 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 2,000 1,900 7,900 0

R2

(80.0%)




1/2)

| | 5-02-61-018
R3 R3
(R6_R9)
0 5,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 5,000 0 0 0
0 0 0 0
1
R
a 1
. 0
b/a % 0.00




©/2)

(R )
a
b
b/a %

0 5,000 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 5,000 0 0 0

R2

(80.0%)




1/2)

| | 5-02-63-001
R2 RS
(R6_R9)
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
3,800 3,800 3,800 3,800 15,200
500 500 500 500 2,000
700 700 700 700 2,800
5,000 5,000 5,000 5,000
1
R )
a 385 385 385 385 385
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
5,000 5,000 5,000 5,000 20,000
0 0 0 0 0
0 0 0 0 0
3,800 3,800 3,800 3,800 15.200
500 500 500 500 2,000
700 700 700 700 2.800
R2 65 75

(86.7%)




1/2)

| | 5-02-63-002
R2 RS
(R6_R9)
11,000 11,000 11,000 11,000 44,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1,100 1,100 1,100 1,100 4,400
9.900 9,900 9,900 9,900 39,600
11,000 11,000 11,000 11,000
1
R )
a 600 600 600 600 600
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

11,000 11,000 11,000 11,000 44,000
0 0 0 0 0]

0 0 0 0 0

0 0 0 0 0

1,100 1,100 1,100 1,100 4,400

9,900 9,900 9,900 9,900 39.600

R2 s s

(60.0%)




1/2)

| | 5-02-63-003
R2 RS
(R6_R9)
13,500 8,100 8,100 2,000 27,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
13.500 8,100 8,100 2,000 27,600
7,100 7,100 7,100 7,100
1
R )

a 3 3 3 3 3
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
13,500 8,100 8,100 2,000 27,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
13,500 8,100 8,100 2,000 27 600
R2 50 75

(66.7%)




1/2)

| | 5-02-63-004
R2 R2

(R6_R9)

5,800 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

5,800 0 0 0 0

0 0 0 0 0

0 0 0 0

1
(R )

a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(66.7%)




1/2)

| | 5-02-63-008
R2 R3
(R6__R9)
26,000 11,000 0 0 0
0 0 0 0 0
0 0 0 0 0
25,000 9,300 0 0 0
0 0 0 0 0
1.000 1,700 0 0 0
0 0 0 0
1
R )
a 1 1 1
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
26,000 11,000 0 0 0
0 0 0 0 0
0 0 0 0 0
25,000 9,300 0 0 0
0 0 0 0 0
1,000 1,700 0 0 0

R2

(73.3%)




1/2)

| | 5-02-63-009
R2 RS
(R6 _R9)
20,200 20,200 20,200 20,200 80,800
0 0 0 0 0
0 0 0 0 0
8,500 8,500 8,500 8,500 34,000
8,200 8,200 8,200 8,200 32,800
3.500 3,500 3,500 3,500 14,000
20,200 20,200 20,200 20,200
1
(R )
a 12 10 10 10 10
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
20,200 20,200 20,200 20,200 80,800
0 0 0 0 0
0 0 0 0 0
8,500 8,500 8,500 8,500 34.000
8,200 8,200 8,200 8,200 32,800
3,500 3,500 3,500 3,500 14.000
R2 70 75

(93.3%)




1/2)

| | 5-02-63-011
R2 R4
(R6__R9)
800 400 6,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
800 400 6,000 0 0
0 0 0 0
1
(R
a 1 1 1
b 0 0 0
b/a % 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
800 400 6,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
800 400 6,000 0 0

R2

(60.0%)




1/2)

| | 5-02-63-010
R2 RS
(R6_R9)
1,700 1,300 1,700 1,300 6,000
0 0 0 0 0
0 0 0 0 0
1,700 1,300 1,700 1,300 6,000
0 0 0 0 0
0 0 0 0 0
2,200 1,800 2,200 1,800
1
R )

a 8 4 10 4 10
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 6 10 4 10 4
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
1,700 1,300 1,700 1,300 6,000
0 0 0 0 0
0 0 0 0 0
1,700 1,300 1,700 1,300 6.000
0 0 0 0 0
0 0 0 0 0

R2

(80.0%)




1/2)

| | 5-02-64-003
R2 RS
(R6_R9)
2,000 0 0 0 6,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 6,000
2.000 0 0 0 0
0 6,000 0 0
1
X
R )
a 3,040 2,900 2,830 2,760 2,680
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a 104 104 103 104 105
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
2,000 0 0 0 6,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 6,000
2,000 0 0 0 0
R2 35 75

(46.7%)




1/2)

| | 5-02-64-004
R3 R3
(R6_R9)
0 1,600 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 1,600 0 0 0
0 0 0 0
1
X
R )
a 5,670 5,420 5,290 5,150 5,010
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 1,600 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 1,600 0 0 0

R2

(40.0%)




1/2)

| | 5-02-64-002
R2 R2

(R6_R9)

3,500 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

3,500 0 0 0 0

0 0 0 0 0

0 0 0 0

1
R )

a 2 3
b 0 0
b/a % 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(46.7%)




1/2)

| | 5-02-66-001
R2 RS
(R6_R9)
0 0 0 15,600 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 15,600 0
0 0 0 0
1
R )
a 195 195 195 195 195
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 0 0 15,600 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 15,600 0

R2

(46.7%)




1/2)

| | 5-02-66-002
R2 RS
(R6_R9)
1,500 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.500 0 0 0 0
0 0 0 0
1
R )
a 195 195 195 195 195
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(46.7%)




1/2)

| | 5-02-69-001
RS RS
(R6_R9)
0 0 0 6,800 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 6.800 0
0 0 0 0
1
R
. 1
- 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 0 6,800 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 6,800 0

R2

(46.7%)




1/2)

| | 5-02-80-001
R3 R3
(R6__R9)
0 45,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 45,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R
2 1
b 0
b/a % 0.00




©/2)

(R )
a
b
b/a %

0 45,000 0 0 0
0 0 0 0] Q
0 0 0 0 0
0 45,000 0 0 0
0 0 0 0 0
0 0 0 0 0

R2

(73.3%)




1/2)

| | 5-02-80-002
R2 R2
(R6 R
8,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
8,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 3 3 3 3 3
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(66.7%)




1/2)

| | 5-02-80-003
RA RA
(R6_R9)
0 0 12,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 12,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R
" 1
- 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 12,000 0 0
0 0 0 0] Q
0 0 0 0 0
0 0 12,000 0 0
0 0 0 0 0
0 0 0 0 0

R2

(66.7%)




1/2)

| | 5-02-80-004
RS RS
(R6_R9)
0 0 0 41,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 41,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R
- 1
- 0
0.00

b/a

%




©/2)

(R )
a
b
b/a %

0 0 0 41,000 0
0 0 0 0] Q
0 0 0 0 0
0 0 0 41,000 0
0 0 0 0 0
0 0 0 0 0

R2

(73.3%)




1/2)

| | 5-02-80-005
R2 R2

(R6_R9)

3,200 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

3.200 0 0 0 2

0 0 0 0

1
R

a 1
b 0
b/a % 0.00




©/2)

R )

b/a %

ol 0 |©o

[eHelHolMHal ol (o}

o o0 ©o O |o

OO 0|00 |o

R2

(66.7%)




5-02-90-001

1/2)

R3 R5
SUS @ 300/400 L=136.70m DIP ¢ 300 L=17.00m

(R6__R9)

0 57,900 0 103,500 0

0 0 0 0 0

0 0 0 0 0

0 0 0 64,500 0

0 57,900 0 39,000 0

0 0 0 0 0

0 0 0 0

1
R )

a 365 366 365 365 365
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %

0 57,900 0 103,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 64,500 0
0 57,900 0 39,000 0
0 0 0 0 0

R2

(66.7%)




1/2)

| | 5-02-90-002
R3 R3
DIP @ 300 L=40.00m
(R6_R9)
0 22,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 16,000 0 0 0
0 6,000 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 365 366 365 365 365
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
© 300
L=40.00m

0 22,000 0 0 0
0 0 0 0 0
0 0 0 0 0
0 16,000 0 0 0
0 6,000 0 0 0
0 0 0 0 0

R2

(66.7%)




5-02-90-004

1/2)

R2 R5
L=1,220m
RO2(424m) R0O3(400m) R04(400m) RO5(400m) 1,624m

L=84.00m
(R6__R9)
38,200 24,000 20,000 20,000 0
0 0 0 0 0
0 0 0 0 0
38,200 24,000 20,000 20,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0

1
2,928m
R )

a 41.67 56.15 72.68 86.34 100.00
b 0.00 0.00 0.00 0.00 0.00
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
L=424m 1=400.00m L=400.00m
L=484.00m
38,200 24,000 20,000 20,000 0
0 0 0 0 0
0 0 0 0 0
38,200 24,000 20,000 20,000 0
0 0 0 0 0
0 0 0 0 0

R2

(66.7%)




1/2)

| | 5-02-90-005
R3 R4
(R6__R9)
0 33,700 32,800 0 0
0 0 0 0 0
0 0 0 0 0
0 33,700 32,800 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

(R )
a
b
b/a %
4 4

0 33,700 32,800 0 0
0 0 0 0 0
0 0 0 0 0
0 33,700 32,800 0 0
0 0 0 0 0
0 0 0 0 0

R2

(66.7%)




1/2)

| | 5-02-90-009
R2 RS

...151 377 ...355 ...313
(R6__R9)
4,600 11,400 10,700 9,400 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,600 11,400 10,700 9,400 0
0 0 0 0

1
R )

a 170 151 377 355 313
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
151 377 355 313
4,600 11,400 10,700 9,400 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,600 11,400 10,700 9,400 0

R2

(66.7%)




1/2)

| | 5-02-90-013
R2 R2

(R6_R9)

172,000 0 0 0 0

45,300 0 0 0 0

0 0 0 0 0

126,600 0 0 0 0

0 0 0 0 0

100 0 0 0 0

0 0 0 0

1
(R )

a 1 1
b 0 0
b/a % 0.00 0.00




©/2)

R )

b/a %

172,000

45,300

0

126,600

0

ol 0 |©o

[eHelHolMHal ol (o}

100

OO 0|00 |o

o o0 ©o O |o

R2

(80.0%)




1/2)

| | 5-02-91-001
R2 RS
(R6 _R9)
23,000 23,700 24,400 25,100 108,200
3,300 3,300 3,300 3,300 13,200
0 0 0 0 0
14,000 14,000 14,000 14,000 56,000
4,200 4,900 5,600 6,300 33,000
1.500 1,500 1,500 1,500 6,000
0 0 0 0
1
(R )
a 10 10 10 10 10
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
23.000 23,700 24,400 25,100 108,200
3.300 3,300 3,300 3.300 13.200
0 0 0 0 0
14,000 14,000 14,000 14,000 56.000
4,200 4,900 5,600 6,300 33,000
1,500 1,500 1,500 1,500 6.000
R2 55 75

(73.3%)




1/2)

| | 5-02-91-002
R2 RS
(R6 _R9)
4,000 4,000 4,000 4,000 16,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,000 4,000 4,000 4,000 16,000
0 0 0 0
1
(R )
a 10 10 10 10 10
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
4,000 4,000 4,000 4,000 16,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
4,000 4,000 4,000 4,000 16,000
R2 55 75

(73.3%)




